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In a village, 60% of the adults were males
and the rest were females. Due to
demographic changes the number of males
increased by 15% and number of females
increased by 10%. Find the % increase in
the populatlon of the village.

TS AT A, 60% TIEH I3 & X qEh
AReT o) Seaiead aRade &
HROT g8 AT FE&AT # 15% 1 gafYr
g iR Afgenst A FEAr F 10% #HY
e gl g i1 e F fRaw o

Jerer g5l
a) 12% o 13%

c) 25% d) 12.5%
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In 2014,40% students in a school were boys.
Due to new admissions in 2015, the number
of boys increased by 20% and number of girls
increased by 30%. Find the % increase in the
strength of school due to admissions.

2014 &, TAd H 40% BF 5%
2015 # AT 3T F FRU, ASF
HEAT H 20% T T 7 3k asfeat
m#so%aﬁraaﬁra'él EIﬁ'QTﬂTE-TITUT
TRel I dThd, HY aaﬁr qTe|

a) 76% 6%

c) 24% d) can’t say
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X's salary is half that of Y, If X got a 50%
rise in his salary and Y got a 25% rise in his
salary, then the percentage increase in

combined salaries of both is
X &T ddeT Y &T 3T &, I X Y 39a
Y &I

daa # 509 # & g ¥ Ik
H9A JaT A 25% # gaT g5 §, ar
Al & o a7 F frad gfava gefe

g 87
a) 30 \y/ss.ss 037  d)75
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Let Z = x? + y? + xy. If ‘X’ and ‘y’ increases
by 20% and 30% respectively, what is the
percentage increases in ‘Z’?

AT & Z=x2+y2+xy & IR x 3R
y # ®AT 20% 3HR 30% & g i
I, @z # @ aeh wfderd g war
w7

a) 20% b) 30% c) 50%

d) 56% \,e/Can’t say

v Y=
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Let Z = x* + y* + xy. If both ‘x’ and ‘y’

'l'-7-°" *2°/ increases by 20%, what is the percentage
increases in ‘Z’.?

AT N Z =x2+y2 + R AT
-HN; *‘4"'/ *"'"‘ XBﬁTYﬁxZO%ya?r%%a?raﬁ ar

Z ¥ get arel ufaera afe‘r T F1?
,w, a) 4% b) 20% c) 40%
4 +¢o~/- \/d')/ 44% e) Can’t say
A= Pax Q
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Let z = ab + bc. If both a and c increases
by 20% and b increases by 30%, find the
percentage increase in z?
AT & Z=ab+bc 3T a 3 ¢ &
20% #r gfr & e HX b #H 30% @
g T A z A @ el gided
aﬁrmgﬁl’r?
a)44%) b) 50%
56% d) Can’t say
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The length, breath and height of a cuboid
increases by 20%,10% and 30%
respectively. What is the percentage
increase in the total surface of the cuboid?
frdl g Y JFars, A18E, T 39 A
AW 20%,10%, T 30% F1 fEr gt B
39+ Fd Hel A% H A areh gfer
yfrerd Ad FA?

a) 20% b) 30% c)43%

d) 69.6% \y{Can’t say
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The Length, breadth and height of a room are
in the ratio 3: 2@. if the length and breadth
are decreased by 20% is and height increases
by 30%, what is the percentage change in the
area of the four walls of the room?

5+‘7.

el Ay A FFaE, NIE T 3T FAw:
3:2:1 & HqUId A 3| IR FFAS T
mﬁZO%mmﬁmmaﬁTﬁ@
Fr 30% arem oA ST, @ FAY A IR
derRl & &9%ad #H AF g wfaed
dedTd IaT |

\af)/4%|nc b) 4%dec. c) 22%dec.

d) 11. 66dec.% E) Can’t say
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Sudha saves 15% of her income. If her
expenditure increased by 20% and savings
increased by 60%, then by what percent has
her income increased?




An employee used to save 40% of
his salary. If his salary increases by
30% and his expenses increases
by 20%, what is the percentage
increases in his savings ?

T FAYN TS ddaT A &
40% AT §] 3P 3WHT ddeT
30% ¥¢ T 3R 39 @ st
20% ¢ ST df §9d # @
arell yfderd gy ara F:1?

a) 20% b) 30%

¢) 40% \ A 45%
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Arbind spends 75% of his income
and saves the rest. His income is
increased by 20% and he
increased his expenditure by
10%. Then the increase in his
savings in percentage is

3T AT 3T FT 75% @A
A g IR TR TEEr #
3ol 3T H 20% HT IEMT g
%ﬁ?ﬁﬁmﬁwﬁm%
#r gefr fr g1 T gfdera #
mmﬁmm%
a) 10% b) 17.5%
¢)37.5% 50%
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If the salary of an employee increases by
30% and his expense increases by 20%,
what is the percentage increases in his
savings?

Rt =afFa &1 399 30% W€ ST @
3R 3H® =T M 20% 9¢ SAET § T
# g1 arell gfaera gitr = gef?

a) 10% b) 20% c) 25%

d) 30% ve’)/Can’t say
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A man spends 60% of his income. His
income increases by 40%, and due to this,
he increases his expenditure also by 40%.

Find the percentage increase in his savings.

Th HIGHT A9l 3T &T 60% W T
T 3| 3T T 40% ¢ I & Y T®
AT WAl Y 40% FeT AT §. A 3FhY
T9d H fhasr faerd sgama muen?

a) 30% b)4% c) 4.44%_9{None of these

o).




The cost of an apple is twice that of a banana
and the cost of a banana is 25% less than
that of a guava. If the cost of each type of
fruit is increased by 10% , then the
percentage increase in the cost of 4 bananas,
2 apples and 3 guavas is

Th A9 AT AAT F3 T ST @ 7
ﬁtﬁaﬁraﬁﬂamﬁm#

Bf10%  b)12% ) 16%  d)18
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The cost of an apple is twice that of a banana and
the cost of a banana is 25% less than that of a
guava. If the cost of apple increased by 20%, cost
of banana increased by 10% and cost of guava
increased by 30%,Ehen the percentage increase
in thf 8 bananas, 2 apples and 9 guavas is

w@aaﬁrmﬁ#maﬁ%aﬁt
ﬁaﬁraﬁlﬂamaﬁrm#%%m

2 @ & I A AAT 20% T, FS A
/aﬁ'n?r 3ﬁ1 A HHAT 30%
a’r am,zﬁ-q' 9maﬁraﬁﬂa
frast gfaera aaﬁr
a)10% b) 15% 21 66% d)25%




@ screw driver and a hammer currently have
the same pricg] If the price of a screw driver
rises by 5% and the price of hammer goes
up by 3%, then how much more will it cost
to buy, 3 screw drivers,and,3 hammers?

Uh 9568 9 TS gUlsT &1 Aed TH
AT g 3R 996d & Hed & 5%
3R T F Hew A 3% T @ ST

T ar 3 Juew 3R 3 g @le A
fhdeT @47 96 SATEI?
a) 3% }{4% ¢) 5% d) 8%
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An article is manufactured using two
ingredients ‘A’ and ‘B’. The cost of ingredient
‘A’ and ‘B’ are 20% and 30% of the total
manufacturing cost of that article. If the cost
of the ingredients ‘A’ and ‘B’ increases by
40% and 10% respectively, what is the
percentage increase in the manufacturing cost
of that article?
UF ] A dYUT B, & "eH GaRT qrdt
St ¥ e 4 T B Y HAT Fel
3cUTES AT T FHA: 20% TAT 30% &
IR °geH A duT B T HAT FHAA: 40%
qgr 10% 99T & St § @ a%g F FAd
# T T gef?

11 b)12.5 c) 22
d) 25 e) Can’t say

| | 18
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4 The income of Raju is(44.44%)more ‘than his

LB 1 expenditure. If his income increases by%O% and
.L - E T S his expenditure increases by 70%, then his saving
t6or. 170 +'—ap-'/. increases by 12000Rs . Find the difference

between his initial expenditure and initial saving?

78“"6%“'.'_9"_"; U A HT IS T F 44.44% AT F|
afe 3w T H 60% a?raaﬁra?ﬁ%sﬁt
8 6% T # 70% AW et &, ar
4200 Oxéhyip ~ TG 12000 mwaﬁﬁ%?ﬁmm
,,.37; v X5 AR YRS T FT A AT BA?
\;7 40,000 b)36000 c)32000 d) 48000
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The monthly expenses of a person arﬁ66§%

more than her monthly savings. If her monthly
income increases by 44% and her monthly
expenses increase by 60%, then there is an
increase of 1,040 in her monthly savings. What is
the initial expenditure (inX) ?

Uh gfdd &1 ARS <IF 3H ARRS T9d
#66%% s & IRy s AfRw 3w &
44% &Y gefr gidr g 3R 39+ A1 =ag |

60% # Feftr gl ¥, @ M FAw Fwa
ﬁ§1,04oa‘?racaj€r31r-h%l IRAF =77 (x #)
fraeT 872

a) 9,000 10,000

c) 12,000 d) 13,000

| SSC CGL T-2 2020 | 20



Sahil used to spend 87. 5%7of his income.

qu 7)(6' qu His income increased by 131 %)E,]E:\nd his
3 I = E + S expenditure increased by 14. 2 0/9 then find
t 19 =| his current saving percentage? "'*

m%amvﬁamra:rmm @ém
m|m?ﬁr3mr:ﬁr11 % #T gefr gr =

80 = R+ ¥ ﬁim—wﬁmzs%,aﬁraaﬁre’r
Il &, Y SHHT TIAET Tud giaed F4

D £
\94 b)12.5 ¢)8 d)91—11
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Geeta saves 18.18% of her income. If
her expenditure increases by 14%%

and income increase by 20%, then his
saving increases by 9600Rs. Find her
initial income.

aT 39 3T FT 18.18% T

%Itrﬁm-mrM%m%

IR I3 #; 200 A aaﬁr gl €,

36H a9d # 9600Rs 1 TG g8

¥ O 3HH IRAF 3T FAr o
115500 b) 148500

c) 134750 d) 92400

| GP |2



20 17 2
T=€E+5
+20/ Yoo, O
&

Sonu saves 15% of her income. Her income
increased by 20% and she still saves the
same amount as before, then what is the
percentage increase in her expenditure?

Hie 9=t 3T FT 15 yfaerd a9 At g

Iy 3Wh 3T F 20 yfaera f gefer

At ¥ 3k ag = Y g oraAr &

gad I g, df 39F @I H Fa«

yfaerd 1 e §% 8, (AT F T
dF AT )

23.5% b)22.5% c)21.5% d)24%
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Every month a man consumes 25kg rice and 9kg
wheat. The price of rice is 20% of the price of
wheat and thus he spends total Rs. 350 on the rice
and wheat per month. If the price of wheat is
increased by 20% then by what percent the
consumption of rice should_be decreased to keep
the net expenditure same as before? Given that the
price of rice and consumption of wheat is constant.
TF ITeHAT g HEW 25 fal =@ AR 9
fohelt AIg @ar §| WA #1 qed AT F AT
gEad AR A 9 350

a)32% 36% c) 46% d) 52%

e 11
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